IMPROVER LESSON 2: QUIZ ANSWERS NZBr‘i’dge

Blackwood

In all the questions below, the opposition pass throughout

1. You are East in each example. What is your bid?

a K842
v KQ76
¢+ A84
% K6
(a) (b) (c) (d)
West East West East West East West East
1le¢ 1v 1s 1v 1v 1e¢ 1v
3v 4NT 2v 4v 2% 2NT 3¢ _ANT
"""""""""""""" 34 44
4NT 5¢
2. You are East in each example. What is your bid?
a K842
v AQ
¢+ K2
% AQ873
(a) (b) (c) (d)
West East West East West East West East
1 lv 2% 1le 4NT 1la
14 3e 3w ANT 5¢ _6a& 1v 24
ANT S5v Sv 5NT 44 4NT
""""""" 6w 7% or 7NT 5% 5NT

6% 64
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NZBr?dge

3. You are West in each example. What is your rebid after partner’s response?

a AKQJ654

v AK

¢+ KQJ

&5

(a) (b) (c) (d)

West East West East West East West East
2% 2¢ 2% 2¢ 2% 3% 2¢ (1)
24 3a 24 3% 34 4 ANT 5&
ANT S5e¢ 3 4a ANT S5v 54

64 ANT 5& INT T

50 (1) 6 diamonds, 6-10 HCP
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